GET READY FOI Math 1

(No calculator use on any problem)

S+b= 13-5= 6+6=
2+7= 5+7= 9-2=

8-2= 15-6= 10+5=
6+5= 8+6= 12-4=
12-3= 10-2= /+9=
6+/= 3+12= 8-1=

O-4= 7-0= 6+7/=
11+2= MN+4= 11-5=
5-2= 13+5= 10-4=




12 _ 4(0) = 10 +5 =
= =
3(7) = 21+3= 24
— =
9-+3= 36 _ 5(3) =
=
15 9(6) = 8+1=
= =
7(7) = 12+6= 16
=
28 + 4 = 0_ 8(4) =
- =
81 12(2) = 0+10 =
- =
2(7) = 18 +3 = 48
- =
36 +3 = 40 6(5) =
==
27 _ 3(8) = 20+2 =




Simplify:

—2-5 —3(—4) 15
3
5(—6) 5—8 32
—8
—10 —6(=3) 10 — 14
~10
—3+7 50 8(—9)
-5
—4(7) —4+1 ~12
6
~16 “5(=5) 7-10
—2
—1-9 27 1(—6)
-3
—6(7) 0-9 —22
11
0 —9(=7) 4—11
—4
—5+3 28 8(—8)




Round to the nearest whole number.

14.678 3.042 2.195
Round to the nearest tenth.

14.678 3.042 2.195
Round to the nearest hundredth.

14.678 3.042 2.195
Simplify:

3 5 9

12 25 24
16 4 20
12 1 35

0 10 12

4 2 42




Simplify:

1+2 3+2 1+7

4 4 10 10 5 10

4 2 2 1 5 2

5 5§ 3 4 6 5

7+2 7 3 3+1

8 4 8 4 4 3

1 3 35
(=) 3(7) 4(6)

1 2 4 3 4 3

2 3 5 4 10 8
4 4 9 3
5(2) 5 10 4




Solve:

Show ALL your steps.

n+5=10 6+n=28

n—3=-7 n—2=-5
2n =38 —3n=9
Z=7 -
2 6
1 — - _
Th—6 2+n 5




Fill in the missing fractions, decimals, percent.

Fraction Decimal Percent
1
1
3
0.25
0.2
10%

66.7%




Show your work to answer these questions.

Rachel types 162 words in 3 minutes.
Rachel types at a constant rate.

How many words does Rachel type
per minute?

Celia bough a bag of 12 goldfish for
$3.

What is the cost of 1 goldfish?

The following table shows the speed
that 4 animals traveled today.

For example, the turtle traveled 6
meters in 5 minutes.

Animal Meters traveled Minutes
Turtle 6 5
Snail 4 8
Caterpillar 1 7
Ant 12 8

Which animal traveled at a rate of
1.5 meters per minute?

Sydney read 50 pages in 40 minutes.
She reads at a constant rate.

How many pages can Sydney read
per minute?

A box of 15 cookies costs $9.
What is the cost for 1 cookie?

A baker decorates 42 cupcakes in 30
minutes.

She decorates cupcakes at a
constant rate.

How many cupcakes can the baker
decorate per minute?




